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A @ifoe U9 s fear gan & St 6
C=100+.7y &, a9 ¥0 100 aR1s 8| I
3T & ARG TR, TIAl DI A AT OIH B
T 71 Dot
Unit-III / SoE-I11

(@) What do you mean by MEC? Mention
the factors which affect it. 7%
A3, 9§ 3T T 9HSd 89 39 daal &l
360 DI i1 0 JHIfad B &l

(b) Briefly discuss the concept of “"Super Mul-
tiplier” 72
"HETUT®' B STERON &l A fades Hifore |

Explain the derivation of IS and LM curves.

Also discuss the process of integration of these
two curves.

IS 3R LM Il & IR § Tw=sd| aga?raasa%
32 U6 R 9 fooa yesR fiemar s 21

Unit-1V / oE-1IV
Compare the major highlights of Malthus
theory and optimum theory of population.
STRIRET & HIeR g 3R 3rjgeran g ol

T faRwamsii & e DI 15
Write notes on the following: 72472
frfoRed wR fewfordt foRas -
(a) Role of fiscal policy in macroeconomic
management.
g 37T Taer | ISTHIN AT B YfHaT

(b) Discuss various phases of Business cycle

TUR Th I fafde Gt & IR d T
HifTe|
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APPLIED ECONOMICS

(Macro-Economics)

Time Allowed : Three Hours | [ Maximum Marks : 100
Note : Answer five questions in all. Question No. 1

is compulsory. Attempt four more ques-
tions, selecting one question from each unit.

PeT U T & TR aloe| T 9. 1 SFar ¢
T® B 3 U T T g€ TR 3T T DI
Answer the following in brief : 4x10=40
frafaRad & <fera R dfwe
(i) Marginal Propensity to consume and Av-
erage propensity to consume
AT 39U Jqfd Tad 3T 3udnT wgtd
(ii) Cost-Push Inflation
g RA & IR
(iii) Meaning of Effective Demand
yraqol dhT &1 37
(iv) Frictional unemployment and Seasonal
un-employment
givd SRISTRI TaH AT SRISHTRI
(v) Importance of Multiplier
oI BT He

P.T.O.



(2)

(vi) Say’s Law of Market

I & IR om

(vii) Phillips curve

fpfesT 9%

(viii) Marginal efficiency of Investment

S3er & Jma emar

(ix) Calculate amount of savings at an income

(x)

2. (a)

C-916

of Rs 10000, if MPC is .8 and minimum
consumption is Rs 900.

T 10000 B 3T &b TR W I DI AT 31
DIfTe afe ea. 0.9, .8 3R geaw U4t T
900 &I
National Income of a country in the year
2010 was Rs. 40000 crores at current
prices. Price Index for that year is 150. In
2005, the national income was Rs 10000
crores. Calculate the percentage in crease
in real income.
TR i R TP a3 B AT 3T 2010 H
FIY 40000 IS M| T a¥ G GABIB 150
oT| I 2005 H I 3T B 10000 RIS ¥
IRaAfad 3T HF ufaed i s1a B
Unit-I / $oiB-1
Explain the circular flow of income in
closed economy and open economy.10

< 3feaRen 3R ol e § 3 &
Ifehd vaTE B GHEEY |

(b)

(a)

(b)

(a)

(b)

(a)

(b)
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3)
Elaborate the census of Expenditure
method of National Income estimation.
T 31 BT AN A & 178 g |IoHT
fafer o faaamn SifFel
“Macro Economics deals with functioning
of the economy as a whole” Discuss this
statement. 10

“THfearar e Tt srefaraven & BRIsGRuT

I Tfed 217 39 gaad &l fqaaer sifsme|

Distinguish between Static and Dynamic

Macro Economics.

@ﬁmmnﬁ@am&a&mﬁﬁaml
Unit-II / 3&E-11

Critically examine the Relative income

Hypothesis in detail. 10

e 3T UREBEAT BT favdRYddD SATa D
TIETT BHIFC|

Explain the investment multiplier. 5
f7aer U & IR # TR

Discuss the major highlights of Keynesian
theory of Employment. 72
DT & IR Rigiea o1 T Rt & aargd|
Suppose the consumption function is
given by C=100+.7y, while investment
is Rs 100 crore. Calculate the equilibrium
level of national income, amount of sav-
ings and value of multiplier. 72

P.T.O.



